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In [2]: import numpy

import pandas E(Tﬁ'ﬁuﬁtglj:%%% EE%

import csv

import matplotlib
import matplat| ih.wr:-lntlt

Code
import [Z4735')—4]
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* CSV@E%&:‘AJ" OO.csv/ nba_2013.csv

_ &
data/ (OO-CSV'“KEJJ) ) kanko_matsuyama.csv
_ L) kanko_castle.csv
(data"izﬁ) fl.| data_sample.csv
wu data

o n:nclef“;

w .ipynb_checkpoints

— | tF=H.ipynb
.
(—DR%)

pandas.read csv( ../ /datakanko_matsuvama.csy’)
pandas.read cev(”. . datafkanko _castle.csy™)

In [B3]: matsuvama
cast|e

Code
2 H] = pandas.read _csv(“x X /QOQ.csv”)
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» Numpy Dndarray
ZRITTEINZEHTDVSADE
Ak :ndarraylFER OB OCERHEWMATCERELTLEICETITIERE R DRER
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In [74]: erint (numpy!) B
(01§ 4] 1178 2 5 6
[2 5 B]]
In [75]: numpyl[0] 01TH
Out [75]: arrax([1, 5, 4]) iﬂiﬁ?ﬁ‘##ﬁ*ﬁ@ffi% P
In [77]: numpyl[z.1] 151 H
Out [771: array([5, 5]
In [79]: numpyl[0,7] 0OfTEH25BNDEFE

Out [79]: 4
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» Pandas () DataFrame
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In [492]: df1 = pd.DataFramef
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28] = pandas.DataFrame({‘5!|44’:[data,data,data...],
‘Fl| 4’ : [data,data,data...],})
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> Numpy (ndarray ThEhDAYREEMLT
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» Pandas () DataFrame
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» Pandas () DataFrame
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wu data
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w .ipynb_checkpoints

— | tF=H.ipynb
.
(—DR%)

pandas.read csv( ../ /datakanko_matsuvama.csy’)
pandas.read cev(”. . datafkanko _castle.csy™)

In [B3]: matsuvama
cast|e

Code
2 H] = pandas.read _csv(“x X /QOQ.csv”)
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In [5]: matsuvama

Out 5] year|tourist | tourist(kennai) | tourist{kengai) | zennenhi
0|H23 | 5711 1713 3998 97.100000
1|H24 | 5523 | 1657 3866 896. 700000
2|H2Zo | 5642 | 1692 3940 102172732
9| H26 | 5707 1712 3995 101.200000
4| H27 5804 | 1741 4063 101. 700000

‘ SEEHZEOERZ LOHBER =L !
thon@outlZH 1
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In [IEEI]:I Fmatelot ik inIine'

matsuvama.plot .har (x=["vear’], v=["tourist’] )}
plt.titlel "tourist™)

Out [1207]: <matplot!ib.text.Text at Oxc279dB8>
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T—3TL— L4 plot.bar(x=0, y=Xx )
plt.title(***’)
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#matplotlib inline
matsuvama.plot .har (x=["vear 1. y:ﬁ’tnurist’,’tnurist[kennai)’,’tnurist(kengai)’ . |2 1pha=0.6 figsize:(12,3ilﬁﬂur = ["R","B",7G"],
plt.title("tourist’, size=16)

<matplotlib.text .Text at Dxef23470> I?.U.,rx“
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In [130]: matsuvama.plot.bar (¥=["tourist (kennai)’, “tourist (kengai)’], |stacked=True| Emap="Reds")
plttitlel tuniaze’, size=16)

Out[1307: <matplotlib.text.Text at Ox16d0afd0>
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In [150]: Hmatplotlib inline
castle.plot (x=["vear’], v=["all(adult)’, allichild)’], figsize=(12,3 ,IinewidchS.[,ﬁinestyle:’dashecli
plt.title(’aresen’, size=16)

Out [1507: <matplot!ib.text . Text at OxfBGeddd:
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In [71]:

Out [T1]:

Bmatplotlib inline
x=cast |eHZ27 |
plt.pielx,labels = castle_lahel

([<matplot|ib.patches Wedgze at
<matplot|ih.patches Wedze at
<matplot|ib.patches . Wedze at
<matplot!ib.patches.Yedge at
<matplot!ib.patches. Yedge at
<matplot!ib.patches.Yedge at

generaliadult)

generalichild)

partyiadult)
party(child]

radius=]

Oxcocallt>, .,
Dxchcaell:,

. laheldistance=1.5, explode=[0, O, 0, 0, O

A
%

Oxchdlad0:,
DxchdB710:,
Dxchdc390s,
Oxchdcfdl:],
[<matplot!ib.text . Text at Owcheoalhls,
<matplotlibh.text.Text at Owxchd1B30:,
matplotlib.text.Text at OxcodGZh0>,
<matplotlih.text.Text at OxchdBef0>,
<matplotlibh.text.Text at Oxchdch?0>,
<matplot|ib.text .Text at Oxchel¥f0:])

discount{child})

discount{adult)

0.51)

o 3
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